








PHYSICAL SCIENCES GRADE 10
QUESTION 1







1.1  Scalar




   (1)




1.2  Weight




   (1)




1.3  Wavelength



   (1)




1.4  Wave




   (1)




1.5  South pole                                          (1)










           [5]







QUESTION 2

2.1  
…force  ….    displacement








       












   (2)

2.2  
stays the same










       












   (2)

2.3  
Period is…











       












   (2)

2.4  
…The transmitted ray









       












   (2)

2.5  
Only electrons …






       












   (2)
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QUESTION 3

	3.1
	A
	B
	C
	D

	3.2
	A
	B
	C
	D

	3.3
	A
	B
	C
	D

	3.4
	A
	B 
	C
	D

	3.5
	A
	B
	C
	D


[5 X 2 = 10]

TOTAL SECTION A : 25 MARKS
SECTION B

QUESTION 4

4.1 v   = 
[image: image1.wmf]D

x/
[image: image2.wmf]D

t (
12 =  x/ 0,8 (
x   =12 x 0,8

      = 9,6m (
4.2
vf = vi + a Δt (

0(  = 12  + a 2,5 (

a = - 4,8 m∙s-1 ( in direction of motion
4.3 Reaction time = 9,6 m

Breaking time :   
[image: image3.wmf]D

x = vi
[image: image4.wmf]D

t + 1/2a
[image: image5.wmf]D

t2 (



= (12)(2,5) ( + 1/2(-4,8)(2,5) 2(



= 30 – 15




= 15 m(
Total displacement 
= 9,6m + 15 m  = 24,6m( in direction of motion
QUESTION 5

5.1
(((


[image: image6.emf]position 

(m)

time (s)

8 18 24 30 28


5.2
(((
[image: image7.emf]velocity 

(m   s   )

time (s)

8 18 24 30 28


5.3
((


[image: image8.emf]acceleration 
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QUESTION 6

6.1 F = mg(  = 0,44 x 9,8(  = 4,31 N( down

6.2
v2f = v2i + 2a
[image: image9.wmf]D

x (

     = 0 (+ 2(9,8)(20) (

     = 392


vf   = 19,80 m∙s-1 (down

6.3
Ep = mgh(  = (0,44) ( ( 9,8) (20) ( = 86,24 J(
QUESTION 7

7.1
The law of conservation of mechanical energy(. The sum of the gravitational potential energy and kinetic energy( is constant (in a closed system(.

7.2
        
           Emech at A  = Emech at top(

   
      mgh  + 1/2mv2  = mgh  + 1/2mv2(
(1,5)(9,8)(0) ( + 1/2 (1,5) v2  =   (1,5)(9,8)(2,25) ( + 1/2 (1,5)(6) 2(      


            1/2 (1,5) v2   = 60,08(



    v2   = 80,12




   V   = 8,95  m∙s-1(
7.3
Friction or energy through heat and sound(
QUESTION 8

8.1a)
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8.1.b)
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8.1.c)
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8.1.d)
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((
8.2.1) Constructive interference
((
8.2.2)

         [image: image14.png]


((
8.3.1)
Rest or equilibrium
((
8.3.2) Direction of disturbance, perpendicular to direction of propagation
((
8.3.3) 3m
((
8.3.4) UP
((
QUESTION 9

9.1) Total internal reflection
((
9.2.a)
Inner
(
9.2.b)
Must be refraction away from the normal to stay inside
(((
9.2.c)
Critical angle

((
9.2.d)
Christmas tree decorations, endoscopes, etc.
((
9.3.1) Lateral inversion
((
9.3.2)
Write the word backwards on the ambulance(
When people driving in front of ambulance look in their mirrors(
Word is written the right way around(
9.3.3) Virtual, Same size and same distance behind mirror(((
9.3.4) Smaller ((
QUESTION 10
10.1
What is the relationship between pd and current strength for and ohmic resistor? ((
 (2)

10.2
The relationship is direct proportional ((
 (2)

10.3
(a)  Pd (

(b)  current strength (
(2) 

10.4
wires, battery/cells, ammeter, voltmeter, resistor/Eureka wire. ((((any 3)
(3)

10.5
connect the wires and resistor in series, ammeter in series, voltmeter over the resistor. (  


Take readings for meters with 1 cell, 2 cells, 3 cells. (

Draw graph of data. (

Interpret shape of graph. 
(2)

10.6


	( (column)
	V (V)
	I (A) ( (row)

	1 cell
	2(
	1(   (Constant ratio)

	2 cells
	4
	2

	3 cells
	6
	3




(4) 

10.7



[image: image15]
10.8
The pd and current strength are directly proportional ((
(2)

10.9
Ohmic resistor: Ohm’s law is adhered to. ((
(2)

10.10
Ohm’s law is not adhered to. (
 (1)

10.11
Temperature. (
(1)

QUESTION 11

11.1
Current strength: Rate of flow of charge (or amount of charges flowing passed a point in a certain time)
(2)

11.2 Potential difference: The energy transferred per charge flowing between 2 points in a circuit.











          


(2)

11.3.1
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11.3.2
V = IR   

 6  = I (0,617)


 I   =  9,73 A



(4)

11.3.3
        Vp = 6 V (parallel circuit)


      i.e V5 Ω  = 6V (










(1)
11.3.4
V = I R


6  = I (12) 

I   = 6/12 = 0,5A 
(3)

11.3.5
Decrease (
(1)
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